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TRIPURA MATHEMATICAL SOCIETY

Aptitude Test in Mathematics - 2024

(For the Students studying in Class - V)

Full Marks : 60 Time : 2 hours

Roll No. of the Candidate  : ____________________________
Read the following instructions carefully and do accordingly 

i) Group - A contains 22 questions with 44 marks and Group - B contains 4 questions with 16
marks. 
ii) All the questions are compulsory 
iii) Write the answer of each question in the specified space 
iv) Papers of rough work are to be attached with answer sheet 

Group – A (2 x 22 = 44 Marks) x = 

1. Fill in the gaps 2 x 10 = 20
(i) A Trapezium has ________ sides.

(ii) 9.3 ______ = 31

9ƒ3  éŸŸŸééŸŸŸééŸŸŸééŸŸŸééŸŸŸé = 31

(iii) Sum of the angles of an obtuse angled triangle is _______.

(iv) The angle between the hour hand and the minute hand at 1 O’clock is ______.

(v) The smallest of the fractions 
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(vi) The area of the region as shown

in the figure is ______ sq. cm.

(vii) 7 kilometers +11 meters + 23 centimeters = ______ decimeters.

+ + =

(viii) 1 sq. m = _______ sq. cm.

1 î Å̂!ô/ = éŸŸŸééŸŸŸééŸŸŸééŸŸŸééŸŸŸééŸŸŸé îˆÅöì¤!ôÐ

(ix) One second is equal to ______ the part of an hour.

(x) The Highest common factor of 24, 36 and 72 is ________.

24– 36 G 72 ~îû ˆ!îûÛþ ¤y™yîû” =”l#ëû†þ ¥¡ éŸŸŸééŸŸŸééŸŸŸééŸŸŸééŸŸŸééŸŸŸéÐ

7 cm Œ7 ö¤!ôŠ

3 cm Œ3 ö¤!ôŠ

Œ5 ö¤!ôŠ
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1 cm Œ1 ö¤!ôŠ

1 cm Œ1 ö¤!ôŠ



2. Each of the following questions has four alternative answers, among which only one  is

correct. Underline the correct option. 
1

2
 mark will be deducted for each wrong answer..

1
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    2 x 12 = 24
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(ii) Sum of the greatest and smallest three digit numbers formed by using the digits 6, 1, 2 only once is

(a) 738 Œ738Š (b) 747 Œ747Š (c) 774 Œ774Š (d) 837 Œ837Š

(iii) Price of 3 bats and a dozen balls is

(a) Rs. 1497 (b) Rs. 911.88 

(c) Rs.1952.94 (d) Rs. 2408.88 

(iv) The LCM of two consecutive numbers is –

(a) Their difference Œ•þyöì̃ îû xhsýîûæþ¡Š (b) Their sum Œ•þyöì˜îû öëyˆæþ¡Š

(c) Their product Œ•þyöì˜îû =”æþ¡Š (d) Their quotient Œ•þyöì˜îû èþyˆæþ¡Š

(v) There is/are _____ right angle (s) in a right angle triangle.

(a) 3 Œ3Š (b) 2 Œ2Š

(c) 1 Œ1Š (d) none of these 

(vi)
5 2

90 6 _______
10 1000

    _______   
5 2

90 6
10 1000

(a) 96.52 Œ96ƒ52Š (b) 96.502 Œ96ƒ502Š

(c) 906.52 Œ906ƒ52Š (d) 96.052 Œ96ƒ052Š

(vii) The number of primes in between 90 and 100 is

(a) 1 Œ1Š (b) 2 Œ2Š (c) 3 Œ3Š (d) 4 Œ4Š

(viii)
3

4
 of an hour is

3

4

(a) 60 min (b) 45min 

(c) 60 sec (d) 45 sec Œ45 ö¤öì†þuþŠ

(ix)
15 15

3 9
   

15 15

3 9


(a) > (b) <

(c) = (d) cannot be compared Œ•%þ¡ly †þîûy ëyëû lyŠ

(x) 925 paise can be written as _____ rupees.

(a) 92.50 Œ92ƒ50Š (b) 9.25 Œ9ƒ25Š

(c) 0.925 Œ0ƒ925Š (d) 925.00 Œ925ƒ00Š
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(xi) In any circle, the measure of the ______ is the greatest.

(a) circumference Œþ›!îû!™Š (b) diameter ŒîÄy¤Š (c) radius ŒîÄy¤y™ÅŠ    (d) chord 

(xii) Dinesh bought a saree for Rs. 3525 and sold it at a loss for Rs. 283. The selling price of the saree is

(a) 3808 Œ3808Š (b) 3525 Œ3525Š

(c) 3380 Œ3380Š (d) 3242 Œ3242Š

Group – B (16 marks) 

3.(a) Find the difference between the place values of the two 9s in the number 59832609. 2

Ans.:

(b) Simplify :  3.8 + {5.2 – (0.025 ~îû 24  0.3)} 2

¤îû¡ †þîû / 3ƒ8 + {5ƒ2 – (0ƒ025 ~îû 24  0ƒ3)}

Ans.:

4. Three children read the same story book each. Rajat read 456 pages in a day. Lalita read 1248
pages in 3 days and Keya read 756 pages in 12 hours. Who read the fastest ? 4

Ans.:



5. ABCD is a square with its side 9 cm. If DH = 7cm
then find the perimeter of the shaded portion. 4
ABCD 

ë!˜ DH = 

Ans.:

6. The step by step solution of a problem is given below. State the problem in minimum number

of words :     4

Part of a bamboo under water and mud = 
2 1 5

3 6 6
 

Remaining part of the bamboo = 
5 1

1
6 6

 

The part of the bambo  = 49 cm
Therefore length of the bamboo = 49 cm x 6 = 294 cm

Ans.:

=  
2 1 5

3 6 6

=  
5 1

1
6 6

 = 49 ö
= 49 ö¤!ô x 6 =   294 ö¤!ôÐ
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